3
U
IS
N

X NRBRODSEENTHD., SEEBERDIHEDNHDIT,



% B I 2 1 M B E E X G —6>
GE> OB BB FEHEICBV TN TEEETE LEALE AR5 AT 5,
i B ERARS Rtk REAHE | TEHRE B B i 2B | B | & %= (M/kg)
k=1 B | A=z + IFXES
@24, 01 |H284x175x1x 11 37.680] 39.574] t 5400
c3 H-194 x 150 x 6 x 9 0.358|  0.376| # "
CG17. BI7 |H-175x90x5x8 16.716] 17.552| » "
A H-150 x 150 x 7 x 10 7.058|  8.356| "
BI5 H-150 x 75X 5 x 7 2.442]  2.565| u "
Hi. P2 |H-148x 100x6x9 0.860| 0.913| » "
T H-125 x 125 6.5 X 9 7443 7.816| » "
Pl. L—1% |H-100x 100X 6 X 8 0.867] _ 0.911] » n_ |0.752+0. 115
: 74.342] 78.063] t
sw@ B0 100 x50 % 5 1.917] 2013 t 5400
it 1917 2013 t
w2 8
it t
EEWE  |P3.J0-h% [C-100x50x20%2.3 0.116] 0.122] t SSC400
(REI4%)
it 0.116] _0.122] t
i &
it t
PL-19 0.670] 0.691] t 55400
PL-16 0.591] _ 0.610] # "
PL-12 0.972|  1.002| # "
PL-9 3.088]  4.108| # "
ﬁ@ g’% PL-6 2.761|  2.844| u "
PL-2.3 0.066]  0.068| # "
Js PL-9 2.345| 2 416| » 55400
FB-9x25 0.373] _ 0.302| » $5400
: 11.766] _12.131] t
RB-H20 0.650|  0.659| t
2148 (7' L-R) RB-M16 1.507|  1.507| t
RB-M12 0.304  0.304| t
: 2.560 __2.560] t
HTB (S8T) [M20x 65 0.917] 0.954] t
420 x 60 0.222]  0.231| »
. M20 x 55 0.048]  0.050|
Ak 420 x 50 0.611]  0.635| »
W16 x 40 0.278|  0.289| »
BALE|M12x35 0.012] __o0.012] » $540019%
it 2.088] 2 171] t
TL—Z  [5-un y9IN20 64.0| &
o B=un" yHIM16 280.0| &
O 5= M1 70.0| &
A-BOLT  |M16-700 376.0| & 55400
&t
. PL6 0.163] _ 0.168] t 5400
f%g”’j@y 9%1: L-50x 50 x 4 0.420|  0.450| » 55400
S C-100x 50X 20X 2. 3 1.940]  2.037| » SSC400
HAL k1235 0.036  0.037] » $540019%
it 2.568] 2 692] t
PL-6 0.072]  0.074 t $5400
BELE % 1-150x 75%5.5x 9.5 3592 3.772| # SSC400
(r—I LB Y|Js PL-9 0.075| 0.078| # 55400
L—IL{$%)  |HTB (F8T) [M16x50 0.030]  0.031] #
16 x 40 0.015] _ 0.016] »
it 3784 3.971] t
- PL-6 0.130] 0.143] t $5400
ﬁﬁ?ﬁf %,5‘ C-100x50x 20x 2.3 0.220| 0 240| » SSC400
PN CT-87.5x 90 x5 x 8 0.891)  0.936| » $5400
) CT-50 % 100X 6 x 8 1.830]  1.922| » 55400
HTB (F8T) |M16x 40 0.085]  0.088| #
it 3.174] _3.329] t
BEWEE O CT-50x 100X 6 X8 0.051] _ 0.054] t $5400
797" 2t
it 0.051] _ 0.054] t
BEWE = [-100x 100x 7 0.112] _0.118] t 5400
(7> Fy—h O-100x 100x 2.3 0.575|  0.604| # STKR400|0. 557+0. 018
BY A L b [M12x50 0.038]  0.040] # 5540049%
it 0.725] _0.762] t
WEET R I
& 100.799] 105.485| t B 9h), HETBER <




